X www.educity.cnX| BRI X SRIFRE A 18 nDRsEEE X X XIRB-Hrt XRRRY B (X (X & 1%
X1 X152 X e 8 D i 3 X ™ 3 XU X - e DX X XUk X R FE D SR A 3 - 80908l (X fe X (X158 (X1 i B v
8 B+ A D] 82 X X1 [X] e X X e R B e B B 4R R X A9 X WK U DX X X R X X 781+

Xzt XXhttp://www.educity.cn/rk

XaEEm X http://www.educity.cn/tiku
2019 ReRRa (X neps A X X X1 st ol X X 5

https://www.educity.cn/tiku/tp20416730.html

2019 R XA E XXX ERNX X 5

1+XSERREH XXX EAXE 1 XXE 4X 3247 X 88 BB AN A& X4 4B X
g1
BN


http://www.educity.cn/rk
https://www.educity.cn/tiku/tp20416730.html
https://www.educity.cn/tiku/tp20416730.html

XIERRR NI A 1-1 -

AP 200.0.0.1/30

GE1/0/2 200.0.0.2/30

By <k dikk

GE1/0/1 192.168.100.1/24

GE0/0/1 VLANIF100 192.168.100.2/24

GE0/0/3 VLAN3 192.168.2.1/24

GE0/0/2 VLAN2 192.168.1.1/24

1A il 1B
192.168.1.2/24 192.168.2.2/24

X5=esEX

XE 11 (8 )

XX AtpEX Switch ZafgtEE PC i s XS NX mi i X XEEX &3 Xk
XXX Switch 3~ GE0/0/2-+GE0/0/3 X4 BEFHaX & iR IENX 11X+
X120X-+D3 DX X DX e DX 2 37 D X 43 T X R DX DX e D 8 X4 X 5e X -

X 21 (6 )

X Switch B X R DX X DX el DX 8 X e X 2 1 it XI5 X+ (X1 6 (XX 7 X
[Switch] vlan batch100

[Switch] interface gigabitethernet 0/0/1

[Switch-GigabitEthernet0/0/1] port link-type access
[Switch-GigabitEthernet0/0/1] port default vlan 100



[Switch-GigabitEthernet0/0/1]quit

[Switch] interface vlanif 100

[Switch-VIlanif100] ip address 192.168.100.2 24
[Switch-Vlanif100] quit

[Switch] ip route-static 0.0.0.0 0.0.0.0 192.168.100.1

XE 30 (2 %)

RXXHXAFEXT XK XXX ENXE MAC #HEX a8 X2k XEX X KNXX
XX MAC #E =XNXERIBRNXT MAC #EXNENX-XNXREE VLAN &8
SRR XHXEE MAC SHENXEENXXNXIRENNXNX XXX X zE#t
XI8X XL X

A.VLAN B.E%

X 41 (4 %)

e E R X X R X XU X R KR B XX sEXEEERXEERNX X PAT
X X A X O X X DX X X4 2249 B X 8 g X 10X+

2SR AN XX B XE 1 XXE 4K 304X 88 UM & X ¥ B X
s+

N

X 7AEX e X\ IR X1E Windows Server 2008R2 XIX| DHCP i X7
XEZkX ¥ 1P #E#E XYt 192.168.81.10~192.168.81.100 1A
192.168.81.110~192.168.81.240F1DNS (& XY~ 1P HHEENXE
192.168.81.2-+

X=esEX

CXE 1 (4 &)

X DHCP WZEXIXIPEXIDHCP e X B X HTX At X Rtk At S ERERNX 11X
W% PELFIDHCP IR XEmNX 2y HERNXSMNX 1P SENXIENX
TCP/IP RXIX R X Ea1ERERX2XELEIDHCP FEiRRENXNXNXsX g XXX
RS ERERNXINXELXEIBNXE DHCP fEHh XX XXX R M EE X



BEY IP #EXNX DHCP A X XS ERET XX EX XX ERREASE
REPRXAXELXEERE P XEX X EE1-
(1)~(4) X¥wEsE X
A. Dhcpdiscover
B. Dhcpoffer
C. Dhcprequest
D. Dhcpack

XE 21 (4 %)
DHCP fHARXEIERAEE P BEEEERIX 1 X X X RS 3 (X Bk X X =2 s X X s
EXmXEEEIIEXXEXT 1P $ERKSEENX XX 2R EREEHRNXKX
BBy 1P BN R XeX X = ERE X X B m Xy 1P
HEXRIEREERNX XX ERREXFX RN P #E

XE 3 (9 )
X Windows Server 2008R2 BXIX DHCP X 2-1 KiBXIK IP &
EXNXXNXE 1P EEEXENXNXN7TXKNXNXX 1P #5EX 65 X X X8 X% 2-
2 iR MXEMXXXXE 1P sEX@EXX_9)XXXNX IP ##EX S
XXX 10X+ XBEREfHENXYT 1P siEREBXEX 11X XIFE 2-3 XiE
7 XIXrgmI X X X3 X2 X e X 12X X+
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RS C:\Windows\systeadZicad axe

: localdomain
* Intel{R» PROA1BAE HT Network Connection
: B-8C-29-DE-7E-75

2 2dPcB=dV2L:TFec 2 15ax

DHCE 2% v s o a % v e
DHCPv6 IAID . . . . . + =« « - . - = 234884137
DHCPuwE B Filn : @R-A1-PE-01-23-F8-12-C8-PA-BC-29-DE-FE-95

pHs ER4 e 750 B v fank e araen x o TR R 1GBRH1 £
I . * = 192.168.81.2
H] HetBlOS =

A 2-3

XE 4 (3 )

XENXNX DHCP 4 1P 82X Y XIXEEAME P #E X & XX EHX XX
XEsiay RN 1P REENIE XX MR NN XN EEEHET 1 1P 64

ENXNXEE DHCP A Xtz X 22 X B - IX XU EEMOR X SR X X X 5158 =
YarEy X asEiERE X8 ipconfig/N 13X X 8 X B XIFIDHCP i X FSE

fErEiEN 1P BEEXNXEREX X X EEEERENXES ipconfig/X 14X X$(X

tA1X DHCP AR X1RXBENXZE1E8IE ipconfig/(15)X8&(F XX g 45X
T rsXEElE

(13)~(15) X W ERYE:

A.all B.renew C.release D.setclassid




3+XERREH X XX R XE 1 XXE 4X 304X 88 BusE i & X4 e (X
g1

AN

XS X BRAPR A XX XX # 3-1 K#EXTIR A BE7R B XNEXGEEEKX
XiE-HpaE XX Bt Erk X AT a X XXX TR A BT8R B FER

XIX X tgmetE R X EX X igr st i XA X G XK VLAN BERXE 3-1
Xig-+
____________________ SwitchB
X IR A
GEO/0/1 GE0/0/2
VLANIF 100 % VLANIF 20
192.168.1 2_34 MI\:J_"_ 168.23.1/:
/’/ ﬁ\\
f’af
GE0/0/1 _GE0/0/2 GE0/0/2

| \‘x
PC1 . GEO//3 ™~

10.1.1.2 VLANIF 400 ™\
] 192.168.14.1/24 "\ e '
. . SwitchD A
G ,
GE0/0/1 GE0/0/2
VLANIF 400 VLANIF 300
192.168.14.2/24 192.168.34.2/24
< 3-1

X=esEX

X 1 (11 )

X SwitchA REX X X#EX RXENXNXR&RX 8% X e+
<HUAWEI>X1[X

[HUAWEI][XI2[X|SwitchA

. VLANIF 10 < VLANIF 100 VLANIF 2(
10.1 -i_-l_l_:';_-‘_ 192.168.12.1/24 192.168.23.2

SwitchA SwitchC



[SwitchA] vlan (3) 10 100 400

[SwitchA] interface gigabitethernet o/o/I
[SwitchA-GigabitEtherneto/o/1]port(4) access
[SwitchA-GigabitEtherneto/o/l] port default(5)
[SwitchA-GigabitEtherneto/o/l]quit

[SwitchA] interface gigabitethernet 0/0/2
[SwitchA-GigabitEtherneto/o/2] port link-type[X|6[X]
[SwitchA-GigabitEtherneto/o/2] port trunk allow-pass vlanX7[X]
[SwitchA-GigabitEtherneto/o/2]quit

[SwitchA] interface gigabitethernet 0/0/3
[SwitchA-GigabitEtherneto/o/3] port link-type trunk
[SwitchA-GigabitEtherneto/o/3] port trunk allow-pass vian[X|8[X]
[SwitchA-GigabitEtherneto/o/3]quit

[SwitchA] interface vlanif 10

[SwitchA-Vlaniflo] ip address[X|9[X
[SwitchA-Vlanif10]quit

[SwitchA] interface vlanif 100

[SwitchA-VIanif100]ip addressX]10[X
[SwitchA-Vlanif100]quit

[SwitchA] interface vlanif 400

[SwitchA-Vlanif400] ip address(11)
[SwitchA-Vlanif400]quit

X 2 (4 )
#EX SwitchA B SwitchC BNXXz## BIE ERMX X EEX XXX e+
[SwitchA] ip route-static (12) 192.168.12.2
[SwitchA] ip route-static 10.1.2.024(13)
[SwitchC] ip route-static (14)192.168.23.1
[SwitchC] ip route-static 10.1.1.024[X] 15X



XE 30 (3 %)

(1)#2#857 1R AXTIR B FBAXNXNX SwitchB & SwitchD REGEZXIFFXXIX
X3 BAIZ 15 ?

(2) X ZKETX 28 SwithB 1B SwitchD R XIXIBARE 18X K-

X 412 %)

(1)#2(XI X fe 25 37 (X s B2 DX R 8 X X1k [X) DX e At i 22 DX 51 DX [X) o 85 2
(2)XFX (1) X B X XX 18-+

4+ ERRBNXINXEXE 1 EXE 2X 53R X 88 BUEM & XX
81
i O
X X R £ 44 s g X1 DX 9 15 8 ) 178 DX s 5544 [X) 85 s XX DX X6 XU IX X X X
e it s Y X-HXEEXIXIXK 4-1 Kig+HXEXNX @ XERX Access XXk
FBXIXIX X g8 P stulnfoSystem.mdb-HXEELEH XXX XXX 4-2 X
B+

F 41 EHXHmiRR

XHE é

conn.asp B A e

stuExamlInsert.asp FEE)

stuExamSave.asp FHEERS

stuExam View.asp FEH S

#F4-2 FHEPNGEERREN (RA: stuExam)
FHE Himska '
stuExamld E 8h4i =

studentld A
classld A
chinese ey
maths ¥y
english ey




XE=EsE X

' XE 1) (8 B)
5 RS X FE X X R X P84 X B8t g Y XmTE-HE 4-1 feiSttX 88
B XEHXE X EE RN RN (1)~(8) T i385 A1

FHRERFEA
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58
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e
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conn.asp X8 F Bt

dim rs,conn
set rs=Server.CreateObject ("ADODB.Recordset")
DBPath =Server.MapPath(" (1) ")

conn.Open"driver={Microsoft Access Driver (*.mdb) };dbg:



stuExamInsert.asp RS F Bt :

<form name="form" method="post" action=" (2) ">
<div class="title_top">
<div class="top cont">
<div>
</div>
<div class="cont_title">
Tps | A3) L
</div>
<div class="box">
<div class="text">

<div>
<span>*5</span>
<input type=" (4) "name="studentId" />
</div>
<div>
<span>iE¥</span>

<input type="text"name="chinese" />
</div>
<div>
<span>¥(%~</span>
<input type="text"name=" (5) " />
</div>
<div>
<span>#ifi</span>
<input type="text"name="english" />
</div>
<div class="c">
<input type=" (6) "id="button"name="button"value="{gA"
</div>
</div>
</div>
</form>



stuExamSave.asp 0% Bt (AP0 304 38 3 45 HoAh AR g mg 2.

studentId=request.form(" (7) ")
chinese=request.form("chinese")
maths=request.form("maths")
english=request.form("english")

sgl="insert into (8)
(studentld,chinese,maths,english)values ('"&studentId&"’',’

"gmaths&", "&english&a") "

conn.execute (sqgl)

(1)~(8) XA AR

A.stuExam  B.XIERLSH[X B8 C.submit  D.maths

E.studentld F.stuExamSave.asp G.text H.stulnfoSystem.mdb
X 20 (T )

e X IR AR XXX IRRX EX BT R X S it X X SRR X X X X
2 FEHE 42 FesgiRXIXX B X X XX S5 X 22 (9)~ (15) ¥
AR IREIRAT

A if)4 R
HESR TR0 W0 RIS
=23 87.32 91.61 93.07

] 4-2



stuExam View.asp 458 B
<l--#include file=" (9) "-->'3| AEIEREEEE L

<%

classId=request.form("classId");

sqgl="select classId,round(avg(chinese), (10) )as avg
(maths), 2) as avg maths, round(avg(english),2) as avg_engli:
classId=' "&classId&"' group by (133 4Y

rs.opensqgl, conn

chinese=(

maths=0

english=0

total=0

If Not rs.eof Then

chinese=rs ("avg chinese")

maths=rs ("avg maths")

english=rs(" (12) ")

End If

total=chinese+english+english

rs.close

5>
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£IEE>
</table>
(9)~(15)XIIHEL 4B
A. classld B. total C.5 D.2
E.avg_english F.conn.asp  G.maths H.avg_maths
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